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FEHl (Y —ATm 7T L lexercise0901.c] )

1: #include <stdio.h>

2: #include <stdlib.h> /* for exit() */
3: #include <math.h> /* for fabs() and pow() */
4:

5: #define EPSIRON 0.0000001

6: #define MAX 30

7: #define START 3.0

8:

9: double f(double x);

10: double df(double x);

11:

12: int main(void)

13: {

14: double x = START, y;

15: int k = 1;

16:

17: y =x - f(x) / df(x);

18: while (fabs(x - y) >= EPSIRON) {
19: k++;
20: X =Y;
21: y=x - f(x) / df(x);
22: if (k > MAX) {
23: printf ("MEDINEKR L EHATL ¥n");
24: exit (EXIT_FAILURE);
25: }
26: }
27: printf ("Step %2d: %.7f¥n", k, y);
28:
29: return O;
30: }
31:
32: double f(double x)
33: {
34: return pow(x, 2) - 2;
35: }
36:
37: double df(double x)
38: {
39: return 2 * x;

40: }
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32: double f(double x)

33: {

34: return pow(x, 3) - 2;
35: }

36:

37: double df(double x)

38: {

39: return 3 * pow(x, 2);
40: }
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32: double f(double x)

33: {

34: return x - cos(x);
35: }

36:

37: double df(double x)
38: {

39: return 1 + sin(x);
40: }
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7: #define START -4.0 /* -4.0, -1.0, 0.5, 2.5, 4.0 %/

32: double f(double x)

33: {

34: return 50 * pow(x, 5) - 150 * pow(x, 4)

35: - 750 * pow(x, 3) + 1350 * pow(x, 2) + 2750 * x + 1;
36: }

37:

38: double df(double x)

39: {

40: return 250 * pow(x, 4) - 600 * pow(x, 3)

41: - 2250 * pow(x, 2) + 2700 * x + 2750;
42: }
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FEHl (VY —ATm 7T L lexercise0905.c] )

1: #include <stdio.h>

2: #include <stdlib.h> /* for rand() and srand() */
3: #include <time.h> /* for time() */
4:

5: #define N 10000

6:

7: int main(void)

8: {

9: int s[6] = {0, 0, 0, 0, 0, 0};

10: int i;

11:

12: srand ((unsigned)time (NULL) ) ;

13:

14: for (i = 0; i < N; i++) {

15: switch((int) (rand() / (RAND_MAX + 1.0) * 6.0) + 1) {
16: case 1:

17: s[0]++;

18: break;

19: case 2:
20: s[1]++;
21: break;
22: case 3:
23: s[2]++;
24: break;
25: case 4:
26: s[3]++;
27: break;
28: case b5:
29: s[4]++;
30: break;
31: case 6:
32: s[5]++;
33: break;
34: }
35 }
36 for (i = 0; 1 < 6; i++) {
37: printf("%d:%d¥n", i + 1, s[il);
38: }
39:
40 return O;
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FEHl (Y —ATmr T L lexercise0906.c] )

1: #include <stdio.h>

2: #include <stdlib.h> /* for rand() and srand() */
3: #include <time.h> /* for time() */
4:

5: #define N 1000000

6: #define AVE 10

7:

8: int main(void)

9: {

10: int i, j, n;

11: double x, y, sum = 0.0;

12:

13: srand ((unsigned)time (NULL) ) ;

14:

15: for (j = 0; j < AVE; j++) {

16: n = 0;

17: for (i = 0; i < N; i++) {

18: x = (double)rand() / RAND_MAX;
19: y = (double)rand() / RAND_MAX;
20: if (x * x +y *x y <= 1) n++;
21: }
22: sum = sum + (double)n / N;
23: }
24: printf (" x =7%.15f¥n", 4 * sum / AVE);
25:
26: return O;

27: }



